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ECH-01: General Chemistry

Question 1

What will be the increasing bond angles order of
CHs, NH;, HyO and HaS 7

CH,. NH;, H,O 93z H,S 95394 (T S¥FH
APIE o= |

Question 2

Which of the following is not correct for dipole moment?

(PG fRTNFE IINF I G ASF N2

Question 3

Observed dipole moment of Chlorobenzene is 1.49 D, C-Cl bond length is = 280 pm. Then what will be the % ionic character of C-C bond?
M (FRRIGTD RINFE JATF .85 D 43¢ C-Cl IHiw (M 250 pm T, B(J C-C IHNF *1SHAN WA WAl 39?2

Question 4

P+ +p  — X +Y:In this nuclear reaction what
are X &£ Y ?

pt +p X +Y; B OBSREFETT X 8
Y & f&°?

Question 5

Which is microwave active molecule ?

2T 8T AT WY (FING?

Question 6

Which group has highest frequency?
(I 51D FICETT @R T (A2

Question 7

Beer Lambert’s law gives the relation between which of the following?

Lambert's Beer & fN(61 (PO ST T 2

Question 8

In the hydrogen molecule, when hydrogen is replaced by deuterium. What will be the change to the rotational constant B?

H; 9F H-T89F SIOEIM 91 afesiie $80 519 @9 (B) 79
=7



Question 9

Among these which has zero dipole moment ?

ST WY (FAHD?

Question 10

What is called: transition of a photon from triplet to singlet state with emission of energy ?
(PIGN PV F-(F AL (T)(A(F IF-(TL NITZI (S A0 B CeT?

Question 11

- ¥ L LI
For which only 1 —n electronic transition occurs ?

(FEGT (F@ 1 >0 3EHEF TR q07

Question 12

Among these which is unstable?

e Ny (@m0 =R 2

Question 13

Among the following molecules which one shows pure rotation spectra?

fRfefiowfea T @it gofx I9ffer (rarg?

Question 14

PsAs +4H =%Mn+ 94 H + 12 'in; What is the type of this

reaction?:

?533A5 +21H ZSEEMH-F gllH + 12 lﬂ.n; ..‘.]% ﬁ; eEICE] ﬁ@ﬁi’l—]ﬁ
|3|ﬂ=§ [:?

Question 15

EBSQQU — 23490"['11 + “He + Energy [ Given Mass of ESQ]U =
238.05790u; Mass of :HWTI'I = 234.04363u; Mass of -He =
4.00260u]. then what will the amount of energy ?

mgzU — :34mm x 4:H= + & (W8T M= EE;:U A9 4=

238.05790u; **5oTh 97 ©F= 234.04363u; *;He 97 ®a= 4.00260u],
RFIE Ti9F Oe TfEe F8?

Question 16

For which ions, Bohr’s theory is applicable?
(TN HRICNS P9 ({1 APH ARSI 7?2

Question 17

Find out the refractive index of a medium having a velocity 1.5 x 108 m/s.



A6 NLITT ST ASTIN 1.5 x108 m/s (A & NN G2 ENOH I W F© =AI?

Question 18

What is the chemical reason for the formation of “Aleya”?

AT SN ATAMND PIAN B2

Question 19

Among these which is not an Isotope with others?

(@) 20p +17n (b) 18p +22n (c)20p + 20n (d) 20p + 15n

T (FHID JTF NI TEF 7 2

(@) 20p +17n (b) 18p +22n (c)20p + 20n (d) 20p + 15n
Question 20

Which nuclear reaction is mainly responsible for the source of energy in the stars?

THFOBAT FCEATE *SFT TG (F AR [ st 2

Question 21

Wavelength of a light ray is 700nm. Find out its energy in Joule.

6 WA TSI (RIS 200 TCNINOE (A Ol NS (G IF(F)?

Question 22

Find out the packing fraction of alpha particle?
WWH@WGW%MW (A PPA?

Question 23

Dipole moment value of H2S is 0.95 Debye; H-S-H bond angle is 970. Find out the bond moment of S-H bond?
H2S 49 fRUN I3 0.5¢ TR G IF (FIV 590 (e S-H A9 IH-ANS (I P |

Question 24

Among the following which is asymmetric top molecule?
XeF4, C2H4, BF3 and CH3F

Ao Ty (@6 WATSTT W2 XeF4, C2H4, BF3 JJ2 CH3F

Question 25

How many normal modes of vibration are present in SO2 molecule?



SO2 WIS FOPE FAE AL (MLATO A8 II?

Question 26

Which of the following pair of elements can form ionic bond?
(a) Carbon and Chlorine

(b) Sulphur and Oxygen

(c) Calcium and Chlorine

(d) Hydrogen and Oxygen

fRU6T (1T (OB WANE IFT 1IN FIR?
(a) I 8 FIfIN

(b) TP 8 ATHGH
(C)FIEARTIIN 8 (I
(d)RRGITG 8 AFG

Question 27

How many angular and radial nodes are there in 4d - orbital?

4d (P (PUVB ™ & AT [N=oTg ST 43 o2

Question 28

Calculate the lattice energy of NaCl.
Given: AHf = —410.9kJ/mole, AHA(Na) = 108.4 kJ/mol AHA(CI) = 120.9 kJ/mole, AHEA(CI) = 348.5 kd/mole, AHIE(Na) = 495.4 kJ/mole.

NaCl J< BT *If&d N VT FH | (R |TR3 AHF = — 410.9kJ/mole, AHA(Na) = 108.4 kJ/mol AHA(CI) = 120.9 kJ/mole, AHEA(CI) = 348.5 kJ/mole,
AHIE(Na) = 495.4 kJ/mole.

Question 29

Which electronic transition in Balmer series of H-atom has same frequency as that of n=6 to n=4 transition in He+?

RIRCGITGH NIV IV FHIRGT A7 (FIN 2AFZ NS BINSF RN n=6 (ATF n=4 AAFZNP NS J9 RS JF2 FNE (M2

Question 30

Arrange the following with increasing bond length. 02, 02—, 022—

JHN FACSA BTN AP TG |
02, 02—, 022—



